UNIT X

Wren §%awod g

T

ol T DOYrw 5T0.
ST ?

QP T B Bed. 2
SNS STed D D §'awod)
QL. & GoNAT0 JDPE

§TN9?

QI & 95D 2os0d0 2N
EVDOTD. B0 DBV
S s &Y §vo =8
P,
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I WILL GET THE
FLOWERS PLUCKED

AND GIVE

Radha! I want jasmines. Can

you pluck and give?

Now I don't have time. After
Sita comes I will get them
plucked by her and give you.
When did you buy this ring?

I forced my mother and got it
bought yesterday. My
brother has a quarrel with me
for this from the moment it

was bought.


Eklavya Sharma
Lesson 57
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o

DO

o :

QOTT] JPe0 S0 [aTEd;
595 D wi) DS o 80D
HoDTT?

0° FHOS P eI EC06.
TR DS EGoD. AL FXD
FOROVE

@%cé 2.8 T @Qcéor? CO&). @ézrcé

QO yren Sodbgloo &o.

)0 & T 26(1L0BED.
OIS S @30hg SNS
ST & T 20000 N
DS Fren Fonod) DoVTp.
%) NG JHEE Decd?

DEOEBE e, S

OVB S50)ed DoWON
O 0.

Y VOT, GO.
080 T 058 WALTH T
@ép A Qo8 o),

205080 DN T DS S’
QRO N.
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I'see! I get the flowers plucked
and give you. Can you get a
garland made by your mother
and send it (to me)?

My Sister can make garland
well. I will get it made by
her. I will pluck the flowers;
don't worry.

There is a stone on the way. It
is difficult to pluck the flow-
ers standing there.

Yes, this stone is not moving.

That is why, after my brother
comes [ will get the stone
shifted, get the flowers
plucked and send them.

Where did he go?

He went to the neighbour's
house. He will come (soon).

Then, send your younger brother
and call him.

I myself will call him; wait.

Susila told us that she would not
go to the movie with us to-
morrow. Didn't she? I forced
(persuaded) her to come with
us and made her to accept
(made her say 'yes).
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(o) Q0 8 JN0L @ T8 But I am not sure if she would
S50g0 Bck. come.

ISlof BB S0od. %) No. She would come. I told
THTOE &rE DI B0 her father also that we would
23 TS 0000 SETo take her and bring her back
Do& e. safely.

o zﬁJ"cg;o. Let us see.

DS OB 0 @I)o%g ST There he is, your brother

o°Q ©doirg € Tow §oRo Brother! Move this stone a little.
23509). S 2BHE0BED. It is not moving for us.

DO 1 BPcd S Taw W o ©go How is that stone coming in your
9000&? way?

e Jreo §oigerds 26 Sleeloy It is blocking out way in pluck-

GOQ.

ing flowers.

BE 330, BS B B300,669, BOLE B
05 P00 500 B 5050,y I OSZe0
DE BODJSY B 03y KdWoBdo S,
6528 BDS TED BNS DHVBID .o

As | failed in Metric, my brother in Tenth, my/

sister in Inter, and my father who had been
enduring many hardships to support our
studies has gone missing. Any one who can
provide information as to his whereabouts will
be suitably rewarded.
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DRILLS
a. Repetition drill

Qg Jrew §ang.

35 69 B8 S,

"éé%éa SO0 WO,

S 38) DS BVY SRR,

35) &ddo TT.

%0 #5) DS S0 TEOT D,
Do® TB0 LSHJOG.

D6E Do DS GO IAJ0D0R.
W0 reen PGB0,

Loen Q08w DS e FEN06.

ST @0y SO EE08.

S @dy) B8 Sro SGI.
e DD DI DB?

e DY DI DT ?
SEE 5o SICE.

B SNGY Wed 50 BIDoTE.

3 ordo .

D30 B WS SOAG0 FAWOTI0.

E500 080 H0DB BB,

DO 500 DS 080 00D
V0N,

o8 DS Yoo §ood) DoVTT?

b. Build-up drill
DoRVT>?
§o00d) DovT?
e §000d) Do ?

2@ 200ok.
QM 20980 23008.
A8 hes DS R 2OV p.
220 &0k,
WS W) WYB .
6 @8 DS 220) SVTE.
E500 3EV0D Hhod.
350 85008 BEWOD HOWod.
D00 B30 B Z000
350D HOWON0R.
B sSING.
Qe B3¢ SN R.
62 e DS 1B TORRTE.
e DI DY DxT?
A3 DODHGR; B DIES]
QEPTY  SNE?
STEB)
080 FHon0cos?
TH0008H Bo&)
e ISETNG0G!
S S8 G So8|

DBO D& Yrew §aod) DoT?
D DBO DS Yrew Sawod HDoWTT?
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c. Expansion drill

Model
Q0erTs) STl 2. % SrerEo.
QT Sk Bl 3. 2008 Yrew §7000.
1. 2080 oo &Hod. 4. &> ody o $G00.
d. Substitution drill
1.3 69 DS Frew Sandd. 2. 7% H DS Sevd) 300000,
SHOVeI VIR AO-De0S
A B DS TOHDY DOF. T D DS HOY DOWN0B.
FE0-580 TP-SES
DA-Dawg 2r8-86)
TBE0-T°ON oS0 &%

e. Response drill

Model (i) & (&GASrd0 DHDg0H ETDH? (w8)
0 §ANVON0H.

1. 35 6D 0D’ @ Jder eT? (D)
2. & DO DP; Do §TY? (26¥)
3. TG 55050 0 PONV0L? (usows)
4. 5088 g0 SroNPH? (Farogz)
Model (ii) Model (iii)
T8 DSTTR? () 8 DSETE0E? ()
. TETE O TETE Bod!
©. TEFEDE. 1. 5080 OPER0EE? (B)
1. 2080 JOPER0H? (S) 2. SE %) P SrH&ociols?
2. SRS W) WP SHS0H? (foes)

(foed)  3.T% &B)® adod? (08)
3. 7% &ED axw? (08)
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d. Conversation drill

Model
TS L a0ph B8 Derd. 2. TS 1 BRPE W) ST,
3D 1 DI DOOTE? o OO
TS TR DO, QTETR & eererrrerererererererenennes
3 1 e00® DI (T WS S B & et

STE WOVTD. s
1. TS a0Ps 20 HHH 2. 3. TS 1 & (BE 10T T,

B & e B & et
RTTETTR & eeereeeeeeeerrrerarareeerees RTTETTR & eeeeeeerrnreereerreeeeeeeeees
B & e o2 I R
4. rTS 1 S OO e BT,

o2 I SRR

RTTETTR & eeerreeeeeeerrrararrraeerees

B & et

EXERCISES

a. Give your response to the following sentences as shown in the model.

Model

©. BOPE 6 Do BID. 4. T3S 003 DOTO.

3% AL B 5. qapdo 36) o6 TTod.
e. 850 Jrew Sosrgeod| 6. 2000 2O SoETO.

3% Sy Bod. 4. 08 D8 DeRETeos.

b. Produce a sentence for each set of sentences as shown in the model.

Model SRQ D5 S NE E00; SVOWE V3.

B €500 DS DAY DI

22000 OO 20W0d 65 20DoWd L.

SE VO DY; BEVO V. SEVOVY ITTW.
BONG P80 FNG (795 SR .

S0 2@; S8R IVE; Sr0)Rd T,
0B Sraodsoher; TR Vees; TOW DE).

oK~ E
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c. Use the following verbal bases in your own sentences after chang-
ing them into causatives. Notice that verbal bases in set (a) are transitives

and set (b) are intransitives.

(a) 1.8 2. o0 3. @ 4. Doow 5. &owg
(b) 1. &M 2. $c0 3. & 4. 238000 5. &

VOCABULARY

-0 by ponens  to fail (v.intr.)
2®S0$0  compulsion 5 difficulty

Pered a quarrel €558 whereabouts

NLO) a garland &N suitable

@c‘ggo obstruction; hindrance 20TV a prize; a reward (n)

GRAMMAR NOTES

57.1. In this lesson the causative forms of the verb are introduced.

57.1.1. -R00 -IMcu* is added to transitive verb to form causative. In
Telugu an intransitive verb cannot directly take causative marker —2o -iMcu.
An intrasitive base has to be first changed into a transitive base in order to
change it into a causative base. (¥*This —20w -iMcu is different from the
transitive marker -20<% -iMcu given in 56.1.5.)

M + Q0 = e&N0wy (28.6.; 2.12.2)) 'cause to ask;

adugu + iMcu = adig-iMcu make smbd.! ask’
§°éqc.3 + 90 = § @éoiﬁo (2.12.2.) 'cause to beat/hit; make smn.
ko u + iMcu = ko -iMcu beat/hit smbd./smn.

2380 — 20 (56.1.1.) + Q0 =
220000 (28.6.; 2.12.2) 'cause to move smth.; make

jarugu — jarupu + iMcu = jarip-iMcu smn. move smth.'
D) — Vo) (56.1.2)) + oo =
$0V0 (2.12.2) 'get smn. killed by smbd.'

cavu — caMpu + iMcu = caMp-iMcu

1. smth. = something; smbd. = somebody; smn. = someone
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57.1.2. When -20< -iMcuis added to axg yyr ending bases, the final
axg yyi of the base becomes ¢ yand the penultimate vowel is lengthened.

DANS + VO = HOD-ROW = waN0o 'make/cause smn.to throw'

veyyi + iMcu = véy-iMcu

008 + RO = DB = H OO

tiseyyi + iMcu = tiséy-iMcu 'make/cause smn. to remove'
57.1.3. When -z0 -iMcuis added to & nu ending bases of the e
anu group of verbs (see 23.1. - @3 anu'to say; to utter', £ konu 'to buy',

&S tinu 'to eat' and Q& vinu 'to listen/hear') an augment ¥ 7p comes in
between the base and —2owo -iMcu.

O + AW = WH-AD + YOO = Vo (2.12.2.) 'make/
anu + iMcu = anu-ip-iMcu = anipiMcu  cause smn. to say smth.'
B + QA0 = BH-A + ROD = SIVoD (2.12.2)) 'make/

tinu + iMcu = tinu-ip-iMcu = tinipiMcu  cause smn. to eat smth.'

5714. &/ cfeuending bases change thier final & /0 ¢/cuto @ p
before —~xoo -iMcu.

BN + ROW = BAD-R0 = 200 (33.3.) 'make/ cause

teruc + iMcu = terup-iMcu = teripiMcu smn. to open smth.'
SO0 + QO = O + AY = 5o 'make/cause smn.
kalcu + iMcu = kalp + iMcu = kalpiMcu to burn smth.'

57.1.5. The causative bases change their final —Q0% -iMcu to 9 is
before a suffix beginning with & ror & d (see 31.4.).

TEOD + T = FEI-TW = FEITE (31.4.) He will make
padiMcu + ta-du = padis-ta-du smn. sing.'

TONOD + 0 = TAR-T0 = TAG-Tro = Tagro (31.4.;26.6.)
rayiMcu + daM = rayis-daM = rayid-daM 'Let's make smn. write.'

57.2. The agent-noun of the causative construction will take the agentive
case marker —2& -céta 'by'. -2& -céta is a postposition and it is added to
the oblique base, as stated in 8.9.

smth. = something; smbd. = somebody; smn. = someone

748



Lesson 57

3 nénu'T : -0 na-céta 'by me'
O ravi'Ravi' 8D-2& ravi-céta by Ravi'
F0 THS SSS0 TO0OT . 'Gopi got a letter written by me.

gopi nacéta uttaraM rayiMcaedu

The agent-noun in this sentence is & nénu 'T'. It is used in this
sentence in its oblique form & na.

57.2.1. When the verb is in the causative form, there will be a potentiality
of three nouns being used in the sentence. Those three nouns are (1) initiator
(in nominative case), (2) agent (in agentive case, ie., inflected by -2& -céta)
and (3) object (in accusative case).

Initiator Agent Object Verb
(nominative (oblique base+ (acc. case) (in causative
case) XS -céta) form)
A 3D-D ISR POVOT.
nénu ravi-céla gopi-ni pilipiMczenu
L Ravi-by Gopi-acc got called.
'l got Gopi called by Ravi.'
o D-2 a0 AooDod.
lata ni-céta bommalu gryiMciMdi
Lata you-by pictures-acc ~ got drawn.

'Lata got (some) pictures drawn by you.'
57.3. -& -/&in singular address, and ~®0& -/EMdi in plural/honorific
singular address are added to a sentence to express an assurance to the listener.
2d J Y% By 'Don't worry! This is your book!"
1di ni pustakamé Ie!
B¢ DOE B Bod 'Don't worry! There is no test today.
1vvéla pariksa lédu [eMdi!
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